oluMl assembly
Instructions

& QR
3
®actiyve play 5°

Interactive
kitchen range

assembly requires 1 adult
(approx. 1 1/2 hrs assembly time)

WARNING! Minimum user age 3 years. Not suitable for children under
36 months - small parts, choking hazard. Hemispheric Shapes - Suffocation
Hazard. Adult assembly required. Only for domestic use. Indoor use only.



Advisory Section

To ensure the safety of you, the installer and your children, it is important that these instructions are read fully before
commencing the positioning and installation of this product.

1. Use on flat surfaces only at floor level.

2. Children should not be permitted to climb or pull on the Kitchen. Improper use may cause the Kitchen to
fall and increase the risk of injury.

3. The product is intended for use by children of the specified age and above. Adults should supervise the play area
to prevent injury to younger children.

Routine Maintenance

It is advised that on a regular basis all main parts / fixings are checked. Tighten when necessary.
Failure to do so may result in the product ceasing to function correctly, and could increase the risk of injury.

Remember to keep these instructions in a safe place for future reference.

For warranty information please refer to our website www.plumproducts.com/support

Plum Products Ltd, Plum Products Australia Pty Ltd

The Cliff, Middle Street Suite 303, 156 Military Road

Ingham, Lincolnshire, LN1 2YQ, UK Neutral Bay NSW 2089 Australia

Tel: +44 (0) 344 880 5302 Tel: +61 2 8968 2200

Fax: +44 (0) 152 273 0379 Email: aushelpdesk@plumproducts.com
customerservices@plumproducts.com www.plumplay.com.au

www.plumproducts.com

Copyright Plum Products 2014

M,
2 Pro,
dUC ts, co



WARNING!

Minimum user age 3 years

Not suitable for children under 36 months — small parts, choking hazard
Hemispheric Shapes - Suffocation Hazard

Adult assembly required

Only for domestic use

Indoor use only

Retain assembly instruction for future use

Use on flat surfaces only at floor level

Children should not be permitted to climb or pull on the product. Improper use may cause the product to become a hazard and increase
the risk of injury

VARNING!

Lagsta anvandaralder 3 ar

Ej 1amplig for barn under 36 manader - sma delar, kvavningsrisk

Halvklotsformer - Kvavningsrisk

Montering av en vuxen kravs

Endast f6r hemmabru

Endast f6r inomhusbruk

Behall monteringsanvisningarna fér framtida bruk

Anvand pa jamnt underlag och endast pa markniva

Barn bor inte tillatas att klattra pa eller dra i produkten. Felaktiv anvandning kan géra produkten till en fara och 6kar risken fér skador

AVERTISSEMENT !

Age minimum de |'utilisateur 3 ans

Ne convient pas aux enfants de moins de 36 mois - petites piéces, risque d'étouffement
Formes hémisphériques - Risque de suffocation

Assemblage par un adulte nécessaire

Usage domestique uniquement

Usage interne uniquement

Conservez les instructions de montage pour référence ultérieure

Poser uniquement sur des surfaces planes au niveau du sol

Les enfants ne doivent pas étre autorisés a grimper ou a tirer sur le produit. Une utilisation non conforme peut rendre le produit dangeureux
et accroitre le risque de blessure

ACHTUNG!

Das Mindestalter fir Benutzer betragt 3 Jahre

Nicht fur Kinder unter 36 Monaten geeignet — Kleinteile, Erstickungsgefahr
Halbkugelformen - Erstickungsgefahr

Montage muss durch einen Erwachsenen erfolgen

Nur fur den Hausgebrauch

Nur zur Nutzung im Innenbereich geeignet

Bewahren Sie die Montageanleitung fir eine spatere Nutzung auf

Nur auf geraden Bodenflachen nutzen

Kinder dirfen nicht auf das Produkt klettern oder an diesem zerren. UnsachgeméaBe Nutzung kann dazu flhren, dass das Produkt eine
Gefahr darstellt und die Verletzungsgefahr ansteigt

ATTENZIONE!

Eta minima dell'utente 3 anni

Non adatto a bambini al di sotto dei 36 mesi. Contiene pezzi piccoli. Pericolo di soffocamento.

Forme emisferiche - Pericolo di soffocamento

E necessario I'assemblaggio di un adulto

Solo per uso domestico

Solo per uso interno

Conservare le istruzioni di assemblaggio per usi futuri

Usare su superfici piane e solo a livello del pavimento

Vietare ai bambini di arrampicarsi o tirare il prodotto. Un uso improprio pud rendere il prodotto pericoloso e aumentare i rischi di infortuni

WAARSCHUWING!

Minimum leeftijd van gebruiker: 3 jaar

Niet geschikt voor kinderen jonger dan 36 maanden — kleine onderdelen, verstikkingsgevaar
Halfbolvormige onderdelen - Verstikkingsgevaar

Montage door een volwassene vereist

Alleen voor huishoudelijk gebruik

Alleen voor gebruik binnenshuis

Bewaar deze montage-instructies voor later

Alleen op een vlakke ondergrond en niet op hoogte gebruiken

Kinderen mogen niet op het product klimmen of er aan trekken. Onjuist gebruik kan ertoe leiden dat dit product een gevaar wordt en kan
het risico op letsel doen toenemen



AVERTENCIA

Edad minima del usuario 3 afios

No es conveniente para nifios menores de 36 meses, ya que posee partes pequefas que podrian causar asfixia
Formas hemisféricas - Peligro de asfixia

El montaje de este juguete debe llevarlo a cabo un adulto

Utilicese exclusivamente en el ambito doméstico

Utilicese exclusivamente en interiores

Conserve las instrucciones de montaje, ya que podria necesitarlas en el futuro

Utilicese solamente sobre superficies llanas y a ras de suelo

No permita a los nifios subirse al producto ni tirar del mismo. El uso inadecuado del producto podria convertirlo en peligroso y
aumentar el riesgo de lesiones

VAROVANI!

Minimalni vék uzivatele je 3 let

Neni vhodné pro déti mladsi 36 mésict — drobné soucasti, nebezpeci uduseni
Polokulovité tvary — nebezpeci zaduSeni

Vyzaduje se montaz dospélou osobou

Pouze pro doméaci pouziti

Pouze pro vnitini pouziti

Ponechejte si montazni navod pro budouci pouziti

Pouzivejte pouze na rovnych povrsich na urovni podlahy

Détem by nemélo byt dovoleno, aby na produkt Splhaly nebo za néj tahaly. Nespravné pouziti mize zplsobit, ze se vyrobek stane
nebezpecnym a dojde ke zvySeni nebezpeci trazu

PELEN

3 paiiaall jeal L52Y1 2l

dhh‘}!\)k;c&)ubbﬂ-)e-u36 Q)Jd&me\éﬁuﬁ(@mgy

BLEAY) jlad - 4y S Cacay JIKE

b padd Jleall ol al s il il

L il aladindl

Laad L) alasiasd

Sies aladin lead) i Aalall Glaalailly Jadia

Aam 1 (s st e Aadand) sl e L oo

Alay) Jlaisl 5 Tba wiiall 05 G (& (A At G W s ) i) e 3 grally JUb plawdl axe Ciay

UPOZORNENIE

Minimalny vek pouzivatela je 3 rokov

Nevhodné pre deti mladSie ako 36 mesiacov - malé castice, riziko zadusenia.
Polgulové tvary - riziko zadusenia

Vyzaduje sa montaz dospelou osobou

Iba pre domace pouzitie

Iba pre vnutorné pouzitie

Ponechajte si navod na montaz pre pripad buduceho pouzitia

Pouzivajte len na rovnych povrchoch na urovni podlahy

Detom by nemalo byt povolené na produkt Splhat alebo za nej tahat. Nespravne pouzivanie moze spdsobit, Ze produkt sa stane
nebezpecny a zvySi sa nebezpecenstvo Urazu

OSTRZEZENIE!

Minimalny wiek uzytkownika: 3 lat

Nie nadaje sie dla dzieci w wieku ponizej 36 miesiecy — mate elementy, ryzyko zadtawienia
Ksztatty potkoliste — ryzyko uduszenia

Wymaga montazu przez osobe dorosta

Tylko do uzytku domowego

Tylko do stosowania w domu

Zachowaj instrukcje montazu na przysztosc

Stosowac na ptaskich powierzchniach, tylko na poziomie podtoza

Nie nalezy pozwala¢ dzieciom na wspinanie sie na produkt ani ciggniecie go. Niewtasciwe stosowanie moze sprawic, ze produkt stanie sie
zagrozeniem i zwiekszy ryzyko odniesienia obrazen ciata

ADVARSEL!

Minimum brugeralder 3 &r

Ikke egnet til barn under 36 maneder - sma dele, fare for kveelning
Halvkugleformede former - Kveelningsfare

Skal samles af en voksen

Kun til hjemmebrug

Kun til indenders brug

Gem samlevejledningen til fremtidig brug

Ma kun bruges pa flade overflader i gulvniveau

Bern ma ikke klatre pa eller treekke i produktet. Forkert brug kan forarsage, at produktet bliver til fare og eger risikoen for legemsbeskadi-
gelse



UYARI!

Minimum kullanici yasi 3 yil

36 ayliktan kiglk cocuklar icin uygun degildir — klicuk parcalar, bogulma tehlikesi
Yarim Kuresel Sekiller — Bogulma Tehlikesi

Bir yetiskin tarafindan monte etmesi gerekir

Yalnizca ev kullanimi igin

Yalnizca i¢ mekanda kullanim icin

Montaj aciklamalarini ileride kullanim igin saklayin

Duz yuzeylerde, yalnizca zemin seviyesinde kullanin

Cocuklarin triine tirmanmasina veya Uriint gekmesine izin veriimemelidir. Uygun olmayan kullanim, Grtintin bir tehlike olusturmasina neden
olabilir ve yaralanma riskini artirabilir

FIGYELMEZTETES!

Minimalis felhasznaldk kora 3 év

Nem alkalmas 36 hénapnal fiatalabb gyerekek szamara - apro részek, fulladasveszély
Félgomb alaku alakzatok - Fulladas veszély

Felné6tt Osszeszerelése szikséges

Csak otthoni hasznalatra

Csak beltéri hasznalatra

Orizze a szerelési utasitast késébbi hasznalatra

Hasznalja sik fellileten, csak a padl6 szintjén

Gyermekeknek nem engedélyezett a termékre maszni, vagy azt huzgalni. A nem megfelelé hasznalat miatt a termék veszélyessé valhat, és
ndvelheti a sériilés kockazatat

MPOEIAOMOIHZH!

EAdxiotn nAkia xpriotn 3 €t

Aev givat KatdAnho yia Tadid Katw twv 36 Pnvwv — TIEPIEXEL HIKPA KOUATI, KivEuvo TViyoU
Huopaipika oxnpata — Kivduvog mviypou

Araiteital cuvappoAoynon améd eviika

Mévo yia olklakn xprion

XpARon HOVO O€ E0WTEPIKOUG XWPOUG

DuAagte TIc 08nyiec cuvapHOAOYNONG Yia LEANOVTIKA Xprion

Xpnon og enimedeg emeaveleg Lovo oTo eninedo tou Samédou

Mnv emitpénete ota maidid va oKAp@AAWVOLV 1) va Tpafouv To Tpoidv. H akatdAAnAn xprion pumopei va urroabuioet Tnv ao@AAELa TOU TTPOIOVTOC e
anotéAeopa auénpévo Kivbuvo TpaupaTIoUoU

i |

U2 RS 35
SERBEOTEIILHEL THA - HEANS LD  SEOBRSH D 2T
LR T - SAOBRAH D LT

RN L BHEIANETY
FIEEN LD &
BN DA

RRICHZ T~ HIHEREEIREL TS REWL -

ROEE DFPETHEML TSRS -

THEBELIC ES /DG OROI DT LI ENTHFASINLERETED D LA - FEYIRERIC X > THEDEMDIRR &
nHGENH ) - ABOEHRESEAL 29

7
2 A8 390

36719 vluke] fobol Al HahA g - e RE A4 9
N R - A 919

of o] ZH 3o} T

A AHg A

A AHg A

2 APAE JF) AT 5 UES nEsIAL

BY e uhek TR AT ALG B A 2.

of o] 7} Aol 710 SEIPAL AFES FolGAM L ok FUTh AFL FA A5 g gt 98T 5 o]
gafel gel Fohgu

i)



i

SAEFI R 3

FiEt 36 AMAUTIILE - MNP 2GR

PR - AR B

G YCIES

{35 A

{553 Py £

{RAF 225 L 1 LA 45 5

(AT M MK P2 - A

DU NETR A A= o 24 00 P T il A e W NI 05 P0G

- |
=9 -

RfCH P4 3

I E36 {1 F LR 5 E- N A E R R
FEIDIR - AEE Gk

NG

ERR I

& it = P {1

TREFZHER I LA 12 1]

{8 P AE M AT /KPR (A

SR BB AR i A P VT B A S o A -z (5 e



PART ID WOOD: PARTS LIST QUANTITY

\ 1075x298 x 9 mm

\ 990 x 298 x 9 mm \

.

\ 500x287 x 9 mm

w

\ 740x298 x 12 mm ‘

740x215Xx9 mm ‘

9 \ _ 1

| 990 x 322 x 3 mm |

10 1 1 1

. 315x298 x9 mm__| . 315x268x9 mm__|
12 1 13 :j 1
287 x140x9mm _| . 740x215x9mm |
o] | N
\ 990 x 298 x 9 mm \
\’
15 | 731 x60x9 mm \ 1
| 280x60x9 mm \ l 280 x 60 X 9 mm [
18 / \ 1 19 1
\ 515x315x9mm _ _| | 462x315x9mm ___|
20 | Vo T
\ 417x 294 x 9 mm \ \ 417x 294 x 9 mm \

22 2 23 %\SQ\% 1

| 275x34x12 mm

| 276x262x5mm___|

TOOLS:

PH1 @ >——D

FASTENER LIST:
a x47
b x8
C x16
d x24
e x16
f  WASHER x4
g DOWEL ¢ ) x17
HARDWARE:
S
A & x4
B x4
C x8
D x1
E X2
F x1
G x4
H x4
| x4
J x4
K x4
L x1
M x8
N x1




U a M4 x45 mwww) x8

45mm \

a M4 x45 wmmmmg] X2

45mm \
g powet (77 w2

a M4 x45 was) x2

45mm ‘

7
W“{D/q



) x2

45mm \
g oowet (T x

a M4x45

o a M4x45 W X2
. C Q g DOWEL % X2
o -




a M4x45 x2
45mm \

%XZ

g DOWEL

18mm







e =

0 X | 10mm | BSm_mJ
5 o g oowet (77 xa

) x2

45mm\
e M3x10 <WUmmmm) x2

10mm _|

Ey

S




mwws) X6

45mm \

a M4x45 maas) X2

45mm \
g poweL (T x




a M4x45 ) 1

45mm \
g oowet (T x2

a M4x45 wma) X2

45mm\
f WASHER X2




a M4x45 wmme) x4

f WASHER X2




¢ M3.5x10 pouwmwi(] x8 b M4x 18 <UNW]) x4

_10mm_| _18mm |

e M3x10 <WOWWW]) x4 C
. 10mm _|
S

Ax2

-M35x 10 | M35x10

@\\
\\%T /
ol Mmaxas a
oL _5
;\%J

e M3x10 <) x4 {.}3 x4 ¢ M35x10 aumam] x8 b Max18 <UUNN]) x4
 10mm | 2

| _.10mm_| LMJ

H

sz

~M3.5x 10+




A @ / | 2
S
=
_— Ii &7 | 0
‘ | =
e (] _— ) é =
s Pl =
L= @
o é \\9
@ J
(2 ]
e ”
©Cs

17




il




6 N CLOCK HANDS awms) ¢ ———— X

N ———

W .0\‘““9‘









!
.4@,4_1
]
| i
L
4
/

%

Thank you for purchasing a Plum Product. Product safety and customer satisfaction are our priorities and
we value your opinion. If you could spare two minutes to complete the customer feedback survey at
http://www.plumproducts.com/feedback we would appreciate it.
%V“’p/
(?)
2 ’hpl‘oductsc
-Com






7190VLSOLYI



	41057_01_Interactive_Kitchen_Instruction_front_cover_Colour
	41057_02_Interactive_Kitchen_Instruction_00_new_advisory_1
	41057_03_Interactive_Kitchen_Instruction_Safety
	41057_04_Interactive_Kitchen_Instruction_Safety
	41057_05_Interactive_Kitchen_Instruction_Safety
	41057_06_Interactive_Kitchen_Instruction_Safety
	41057_07_Interactive_Kitchen_Instruction_parts_list
	41057_08_Interactive_Kitchen_Instruction_01
	41057_09_Interactive_Kitchen_Instruction_04
	41057_10_Interactive_Kitchen_Instruction_06
	41057_11_Interactive_Kitchen_Instruction_10
	41057_12_Interactive_Kitchen_Instruction_12_A
	41057_13_Interactive_Kitchen_Instruction_14
	41057_14_Interactive_Kitchen_Instruction_16_2
	41057_15_Interactive_Kitchen_Instruction_18_1
	41057_16_Interactive_Kitchen_Instruction_extra_page
	41057_17_Interactive_kitchen_Instruction_extra_page
	41057_18_Interactive_Kitchen_Instruction_extra_page_A
	41057_19_Interactive_kitchen_Instruction_extra_page_A
	41057_20_Interactive_Kitchen_Instruction_extra_page_A
	41057_21_Interactive_kitchen_Instruction_extra_page_A
	41057_22_Interactive_Kitchen_Instruction_extra_page
	41057_23_Interactive_kitchen_Instruction_extra_page
	41057_24_Instruction_last_page

